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1 B AR % 53 SRER  DaRBEr 4 X 51302kttt 573 5 = 500
2 ARt 3 84 SREE  DaBEL A X 51302skskskkkskek 559 £ P 250
3 PR 3 53 SRER [k EE A X 51302%kskskskskkk575 & 5 330
4 A 5 38 SRER ek EE A X 51302skkskskeeteokk5 53 = 5 660
5 Bk & 12 SRER DaRBE AL X 51172kttt 96 1 = & 250
6 EEE 5 30 SKER | kB A X 51302skkskkokotkk557 5 5 250
7 Bz % 69 SRER  DaRBEr 4 X 51302skkskstokeiek553 & 5 250
8 N 5 28 JRER REBFEIX | 513023553 i i 500
9 R I 7 SREE [REE AL X 5117 2skkstkokokok 1 68 & Fn 250
10 fR] T 54 24 SRER ek EE A X 5117 2skskskeeteokk 988 = 5 500
11 TS 5’y 60 SREL DaREE#E X 51302kl 064 = & 250
12 Xz & I 69 SKER |k BEE A X 5130 2skkskskskteokk 52X & 5 250
13 B R 5 54 SBR[ ERAE X 51302skkkskskokok556 S = 330
14 [EREE 3 85 pi S B 51302stkeksolokekok 55 5 2 400
15 XIFKR 4@ 14 SRER [ EE A X 5117 2%xkkk84%983 S S 190
16 [ o 54 62 SKEE | xR A X 51302skkskkkkk 547 & 5 105
17 FrETS 5’y 67 SRER  DaREE AL X 51302skksksoletek549 = & 190
18 ERme 5 57 SRR DaBERAEX 51302sksksksetekk 577 o &5 250
19 ZikAl 5’y 88 SRER  DaRBEr 4 X 51302skksksekekekxk520 5 & 250
20 ERiR 5 70 XREE | EE A X 513024559 5 5 250
21 Ak e 5’y 76 SREE R EE AL X 51302skskkstokdokok 527 & = 660
22 L% 5’e 52 SREE D BEE A X 513025454580 %5 & 250
23 FIEE 5 54 XREE R BEEAEIX 51302skksksolotekk554 5 & 800
24 FEiX 5 18 SKER | kB A IX 51170s%kkskktk46 16 = 5 250
25 Y 5’y 71 SREE  DaRBER 4 X 51302kttt 522 = = 380
26 P 5 76 SKEE |k EE A IX 51302skkskksktkk553 = 5 250
27 FALES & 92 SREE [ EE A X 51302%xkkk84%525 S i 250
28 T 54 51 SREE D BEE A X 51302stkekstoloetok 523 5 7 190
29 A 5’y 72 XREE R BEEAE X 51302kttt 52X 5 = 330
30 Fkalise = 79 SREE  DREEAEX 51302scktkototokok 526 5 7 250
31 B R % 78 SRER  DaRBEr 4 X 51302skksksokoeiek57 1 F 15 400
32 AR S 54 40 SKER |3 EE A X 5130 2skksksklesteokk 523 = 5 330
33 AKAE 5 78 SRER [ IX 51302sk5kkskskk558 S & 330
34 J& % 5 79 NRER  aREE A X 51302skskskteokk5 53 = 5 250
35 Dl 5’y 82 XREE R BEEAE X 51302kl 523 = & 250
36 ES>EN I 62 SKER |k EE A X 5130 2skskskskteokk 52X = 5 330
37 ZHAE % 73 SREE KBS A X 51302kttt 577 5 Fh 250
38 R % 4 48 SREE  [REE A X 51303kkksekotkk 224 5 7 330
39 VN E i 67 SREE R EE AL X 51302k 52X S & 250
10 A e 71 KRER  [REEHEIX | 51302#skskk525 i i) 190
41 HHiE 5’y 79 SREE [ RER A X 51302skksktoleiek523 5 & 190
42 AT ZK 3 5 69 SKER | 3k EE A X 51302skkskkskelokk550 5 5 210
43 HIETE & 68 SBR[ ERAEX 51302skkkskskkokok 263 S = 250
44 1% ELAE 5 67 XREE | xR A X 51302skkskokksk55 | = i 250
45 T 5 50 ik BB VAR 513024k 4%5k552 5 & 400
46 A 2Rk i@ 20 ik B VAR 51172k 5k585%960 = pa 250
47 [ 7K I 59 ik B fVARE 51302kl 528 5 = 250
48 KR EZE 5’y 39 Bl A IEF 51302skkskskkrkk 741 =5 & 250
49 [ELE ] 5 73 itk BB VAR 5130 2skskskckoletokk 552 = 5 210
50 T 5’4 64 ik B VAR 51302stkoksolokekok08 | N & 250
51 [k 4K 5 49 Xk B VAR 51302sks5kksksk%555 5 F 250
52 REAE 3 Eoe 63 ik BB YAkt 51302skekstoloetok 529 5 7 570
53 FR{EE 5 72 ik B Fiart 51302:ksikelekkk559 S & 250
54 [ Al B ] 4 Sk HE VAR 5117 0slekstoloetok( 18 5 7 250
55 ML 5 53 Xk B FVERt 5130 2skskskkloteokk 554 & & 1320
56 [ g E:) 89 Bl AIEF 51302skskskskkokk 551 5 5 250
57 [R5 5 17 it Bl VAR 5117 2kstelotolokk 975 & % 250
58 [ 21 i) i 25 Sk ER VAR 5130255966 i 3 250
59 BN 5’y 58 ik B VAR 51302kl 340 5 = 250
60 BRI ] 59 Sk HE VAR 51302skkekstolotetok 577 5 7 250
61 FEAL 5 63 ik B VAR 51302skkkstokkoksk 59 1 & = 500




62 %35 5% 54 62 ik B VAR 51302skkskseotskek 54X i 2= 250
63 -4@% [ 18 SREE | AVAAL | 511724076 i} it 330
64 DI ks 84 i Bl VAR 51302kl 55X 5 = 660
65 %Eﬁe‘r 4 78 X BB FVART 51302skekstolotetok 527 = 2= 250
66 K IKE 3B 78 X EE peralil 51302sk*stktkx554 & 15 250
67 X 4 3 64 X HE VAT 51302skkkototokok 55X 5 7 105
68 YK 5 43 Xk E VAR 51302sks5kskskk%55) F 15 750
69 P ILA 5 16 Xk HR VAR 5117 2skekstoloktok055 i i 250
70 Al 5 8 X HR VAR 51172skkskt0kekk033 5 & 250
71 875 = 78 i BB FVgRT 51302scktkototokok 520 5 7 330
72 JEYERk 3 62 X EE peralul 51302skkskkkk55 1 = = 420
73 p=E | 54 60 ik BB FYART 51302stkekstoloetok 522 5 2 250
74 JE = 54 39 ik B VAR 51302548528 % 7 250
75 SRR & 20 e yaAaL) 5117 2k 960 5 S 250
76 EER i°©@ 49 Xk B VAR 51302kttt 346 = & 420
77 PR 3 53 Xk ER VAR 51302550 i 3 250
78 {ATAEAL 5’4 79 X EE FVER 51302skkkkk%526 & & 250
79 e 4 17 Xk HE FYART 5117 2slokstoloketok063 5 7 250
80 I E i 77 it Bl VAR 51302kt 4kk 522 % i 210
81 i1/ 5 54 ik BB AV 51302skskskkksok 573 5 3 250
82 %5 I 81 i B FiErt 51302:kskclekkk523 S & 190
83 B 54 58 i BB YAkt 51302skkekstolotetok6.29 5 7 250
84 THA 5 88 X EE peralul 51302sk#skktkx554 & 15 190
85 % IEM 5 78 BNl AEF 51302skkskkkx4%559 = = 250
86 FIEF 5’y 85 ik B VAR 51302skkkstckodkoksk 52 1 i 2= 400
87 FEY 54 72 X EE VAR 51302sktkototolok 52X i 3 190
88 [EpiS 5 62 ik B fVARE 51302skksksoletetek551 5 & 190
89 KIT 55 3’y 75 BTNl A EF 51302skkskkkkkk545 = & 190
90 {7 HEAf 5 53 Xk E FVERt 513025kt 55) & & 570
91 Uiy i@ 50 e yaaL) 513023k 548 5 5 250
92 AR 5’y 84 Xk El VAR 513025k 52X 5 Fh 250
93 JH S 3 67 ik BB VAR 51302sktkototook 554 5 7 760
94 B E @ 61 X EE VAR 51302kttt 560 & 5 250
95 JEE3 54 40 Xk R VAR 51302tk 52 1 7w i 250
96 FRAGAZ 5 19 Xk B FiErt 5117 2skskskkltokk955 & & 250
97 FER 3’y 49 Bl AEF 51302skkkkkk %580 =5 = 525
98 AT Y bl 5’y 27 ik B VAR 51302skskkstckodoksk 52 1 i 2= 250
99 ] 25 5 5’y 16 BTNl K 5117 2skkkskk k%984 =5 = 250
100 KA 5 5 ik B VAR 51172kl 05X 5 = 250
101 bk e 5 Xk BB FVART R — & & 250
102 JLH 5’y 93 DS Pkl 513025kt 522 %5 5 105
103 3L 5’4 91 ik B FYART 51302stkekstoloetok 522 i 5 190
104 WWE 5’y 75 Xk B VAR 5130258524 5 &= 380
105 A KR 5 81 X HE VAR 51302tttk k556 & 3 250
106 e 5 79 X ER VAR 51302skksksoleiek559 5 & 105
107 YR E 56 JER [ AT 513023kt 550 5 5 250
108 R B 5 52 SRER | AA: X 51302%%xkk5%%556 & 5 250
109 /AT L) 48 SREE [ ARALX 51302skkksekstkk 574 % 7 250
110 LA [ 38 SEREL | AJTAEIX 51302tk %559 % g 250
111 JH &S 5 30 SREE [ ARALX 51302skeksolokeiok558 = 7 660
112 ST 5’y 18 SRER  [RRAEIX 51172skksktokeketk96 1 & & 250
113 HE 5’y 20 JER [ AT 51172kt k966 5 5 400
114 ST 5 26 SREE | AA: X 51302%%kkk5%%553 % 5 250
115 I 5 29 SRER [ ARALX 51302skk0k0k %054 5 3 250
116 EVE 5’y 36 SREE [ AJRAEX 51302sks5kskskskx524 & 5 1200
117 XUHLFE 5 8 SKER | AR X 5117 2%sskkkkkk03X = 5 250
118 pIE=R/A 5’y 14 SREE  [RRAEIX 51172kl 982 5 & 250
119 o ok e 52 SREE | ARAEX 51302skkskkkkk 573 Fin i 400
120 P 5’4 24 XREE | AR X 5117 2skskstksktnk 4 | 5 5 400
121 fL% i 5 57 SREE [ ML X 51302skkkototolok 550 5 7 330
122 By 5’y 21 SRER [ A X 5117 2%kskskskkk%002 & 5 330
123 EXER L 39 SREE [ ML X 513023k k43550 & & 570
124 2= ik i 5’y 16 SRER [ M IX 51172skskekekkx964 5 & 250
125 =TI 54 9 SKER | M X 5117 2sksksksteokk 969 & 3 250
126 PG 5’y 89 SRS [ Mgk X 51302%%kkk5%%523 & 15 400
127 MR i 59 SREE [ ML X 51302k kst 524 5 i 400




128 gk 5 18 SREE | BrdAE X 5117 2%kkk4%k973 5 = 400
129 fEE 54 28 SRER [ Mg X 51302skkskskketekk 526 r & 250
130 JHIEE i°©@ 85 SREE [ raa X 51302kttt 520 = = 400
131 ReE 5 52 SREE | M X 513024557 = = 400
132 FEM & % 20 SRER [ M X 5117 2skektokokkok08 1 = & 250
133 Yebat E] 18 SKEE | Mg X 5117 2skekstoloketok57 F 5 1200
134 YEPinsi 5 48 SREE [ A X 51302%kskks84%559 S = 250
135 fkEdE 5 24 SRER [ Mg X 51172544952 & 5 250
136 =K 5 49 SREE [ Mg X 51302skkskselotekk554 = 5 250
137 i ] 12 SREE [ ML X 5117 2sskkskoksek 952 & & 250
138 7K1 5 24 SKBE | Mrdak X 51172tk 992 5 & 190
139 Z= N LS 56 SRER [ HEIAE X 5130 2skkskskeeteokk5 58 N & 330
140 AR 5 73 SREE [ MRk X 51302sks5kkskskk558 5 F5 250
141 KL A 54 53 X EE WAL 51302skkkototokok 520 & 3 660
142 EEIE 5’y 22 X HR PERIni 51172skskekokk964 = 5 250
143 FI A 3 53 Xk ER AT 51302:kkksskkskk 57X 75 5 330
144 BRIE 5 82 SR HE At 51302skksekokiok559 & P 330
145 FHE Y E] 76 ik B AT 5130 2sksksketetotek 55 | N & 330
146 [R=1H 5 62 Xt ER At 51302sksskseotskek 57 4 % i 660
147 R R 54 63 X EE AL 51302skkekstoloeiok448 & 3 250
148 | FRE L 70 X HR AAT 51302skksksolotetk612 = 5 330
149 R i@ 19 ik B AT 5117 2skkskk8k5960 & %5 250
150 XIS, 5 67 SR HE At 51302sksototkok 55X & i 250
151 A 5y 21 ik BB AT 5117 2sloksolokekok04 1 5 7 330
152 BIEX 5 91 Xt ER At 51302skksksokskek 550 & i 330
153 A i i 58 Yk BR AT 5130 2skksksketeokk 524 Fn i 105
154 1R L 5’y 72 ik B AAT 51302skkskstolotek522 = 5 400
155 {i] 42 e 53 ik B A AT 51302sksksksteokk5 58 i = 400
156 ISy i 63 itk R pepiisl 51302k xkk5%%52X & 5 250
157 REE 5 58 ik B AT 5130 2skkskskeetekk5 73 N - 330
158 AR 5 59 X Bl pepIal 51302sks5ksksk8k%55) i 15 190
159 ] 54 74 X HE AL 51302sktktotolok 526 & 3 330
160 e L 48 ik B AAT 51302kttt 91X = 5 190
161 IR EE 54 21 ik HE AT 5117 2%k k456964 75 2 330
162 ENE 5 67 ik B At 51302skkstckdokok 559 & & 190
163 X 40 B 5’e 73 X EE AT 51302skkototolok 526 5 1 250
164 FHEC el 57 ik B A 51302skskkstckookeok 553 i = 400
165 X K2 5’y 73 Sk HE AL 51302stkekstolotetok 527 i Fh 250
166 FLt% 5 52 Xk BB At 51302skkselkokiok552 & i 250
167 At 3 45 X HE AT 51302sksktotolok 55X i i 250
168 B 5’y 77 itk BB pepisl 51302sks5kkskskx525 = 5 250
169 i 5 70 Yk ER AL 5130 2skkskskelesteokk5 59 F & 250
170 LN i© 84 X EL AT 513024k 4kk548 5 & 250
171 A 5 57 X HE AT 51302skeksolokeiok 555 & 3 250
172 BMAR 5 50 X ER AAT 51302kl 556 = 5 760
173 RENTS I~ 47 Sk BB AT 51302skskkkksk023 i i 250
174 i 5 27 ik B At 51302skkkstokdkok 553 & H 250
175 |7l 54 18 Yk ER AL 5117 2skkskskeeteokx 964 i 75 250
176 2R 5 83 Xt ER PERini 51302skskkstckdokok 553 & i 190
177 itE 75 5 88 ik B AT 513023k k454556 75 75 190
178 ESC 3 72 X# B pepial 51302skkselkokiok5 78 & 5 250
179 ZKE 5 55 Sk HE A AT 513023k k454556 75 2 660
180 ZKA 5 52 ik B At 51302skssksotskok 550 % 2= 250
181 Bh—# 54 61 X HE AL 51302stkekstoloeok529 5 7 250
182 M eI i 70 X ER At 5130235kt 520 & i 190
183 AL 5 72 X HE AT 51302skkkotetolok 570 & 3 190
184 TR i 71 S HE pep il 51302kt 523 & i 250
185 s 54 82 Yk BB AT 51302skkskk4kk 508 75 75 250
186 S E 4 73 ik B At 513023tk 526 & & 380
187 s E] 74 Sk R AT 51302skkskskkteokk 556 fn Fh 250
188 FHEf B 5 61 X ER At 51302skssksotskek 554 & i 330
189 L2 i@ 92 ik B AT 5130 2skkskskteokk 524 & &5 190
190 % L 73 S HE pepial 51302skekseloiok527 & i 500
191 R=ER LS 71 Xk HE A AT 5130 2sksksksteokok5 59 i & 250
192 L E 5’q 73 itk R pep sl 51302skskskksksokk 548 = 5 330
193 FKE L) 84 X HE AL 51302skeksoloktok 555 S & 315




194 PR 5’y 82 X HR ZepIal 51302skkskskik52 | i 15 250
195 ZCAh 5 51 poiMal AT 5130254k 592 & & 250
196 R 5’y 35 X HR PERIni 51302kl 523 = 5 760
197 BiEs e 59 ik B A AT 5130 2sksksksesteokok5 59 & 5 250
198 FAKTE i 19 Xk BB PRl 5117 2skskctotkk960 i i 250
199 ATk i@ 7 ik B AT 51172tttk 047 F & 250
200 254 % 52 X HR [IEXR] 51302skssksotsiek 44X % i 400
201 =R 5 57 Xk HR Al AT 51302skkekstolokeiok553 5 7 400
202 JEAL 7 5’8 61 X HR [IEXR] 51302skstctorkok 52X & s 190
203 K= E: 61 i BB A AT 51302sktkototokok 594 i i 250
204 LS 5oe 77 Xk BB [ESN] 51302 kkkk6523 & P 190
205 X4k 35 5 43 ik BB AT AT 51302stkeksolokeiok558 & 3 190
206 AT R TS 5’y 69 ik B [IEXR] 51302skskkstckodokeok 523 F 2= 400
207 P 5 64 X EE Al AT 51302skskototolok 556 & & 330
208 X2 i°©@ 91 X HR [IEXR] 51302kttt 52X = 5 330
209 | RS 3 50 X EE [HEXR] 51302skkeksoloetok552 i i 250
210 B fi 2% 5oe 58 Xk BB AT AL 51302skk4k4528 & P 400
211 A =] B 5 54 X HE AT AT 51302stkeksolokeiok 558 5 7 400
212 XIS 4R 5 69 ik B [IEXR] 51302sksksksotskok 554 F 2= 400
213 HYE i 57 Xk HR Al AT 51302sktkototolok 726 F 7 400
214 T 5 5 77 X HR [IEXR] 51302kl 576 = = 380
215 {75 @ 78 ik B o] A 51302skskskskskskokok 522 S & 250
216 RAL T 5’y i Xk BB [ESN] 51302skk8k6529 & P 250
217 5 E 5’e 52 X HE Al AT 51302stkekstoloetok 763 5 2 400
218 LR 5’y 75 X HR [IEXR] 51302skssksotskek 520 & i 250
219 MRERS 54 84 X EE Al AT 5130254525 i & 190
220 PR gy 61 SR HE [IEXR] 51302skeksckokkok52 1 & Fn 400
221 {i] 2z df [ 61 ik R A AT 51302skkeksolookok 55 & & 330
222 T 5’y 69 ik IS [IEXR] 51302 kkekatotokokb22 5 & 400
223 BRI Eoe 77 X HE Al AT 51302skkkototolok 526 5 2 250
224 AR el 79 ik B [IEXR] 51302skssksokskok 556 i &= 750
225 pEES 54 77 poMal Al AT 51302skekstolokeok525 i & 250
226 =l 5 51 X EE [IEXR] 51302skskstolkotokk 555 & = 250
227 X2 5y 52 Xk R A AT 51302skkekstoloketok 567 7w i 250
298 S0 5 56 aker | st 51302kikottok 55 1 g & 190
229 R4 3 77 X BR [HEXR] 51302kskkokk 55 1 & & 250
230 R e Y 62 X HR [IEXR] 51302skksksotskek 520 & i 660
231 hEL L 39 X HE Al AT 51302sktktotolok 550 5 7 250
232 R 4 3 76 SR HE [IEXR] 51302skksekokiok559 & i 250
233 LD e 78 poMal [EEXR] 51302skkeksolotetok 557 Fin = 660
234 BR%E 1 63 RIS 5130285545523 o pic 250
235 [ Aol 54 90 Xk HR AT AT 51302skkkototokok 520 5 1 250
236 TR 5 44 X HR [IEXR] 51302skkskkkk 555 & i 330
237 i U 77 X HE fAl AT 51302sktkototokok 54X = 7 250
238 2N ks 54 SR HE [IEXR] 51302sksketorkok 55X & i 190
239 AR % 11 Xk HR A AT 5117 2skeksoloketok063 5 B 400
240 FHE 5 88 Xk HR AT 5130255k %55X & 5 500
241 L E 5’e 85 Xk HR AT AT 51302stkekstoloeiok 522 5 7 250
242 BB 5’y 19 X HR [IEXR] 5117 2skksk44%965 & i 330
243 M1 54 57 poMal fAl AT 51302skkeksoloetok 528 = 7 250
244 FHE L 57 ik B [IEXR] 51302skeksokokkok46 1 = = 105
245 RFAE 5 57 X BR [HEXR] 51302skskototokok 554 & i 750
246 Tk L 5’y 56 X HR AT 51302kt 245 & i 250
247 REW 5 21 XK BB [EEX) 5117 2ktolkokkk 958 & 3 250
248 | VP # i 61 SREE | {54 513023kkkkK557 i o 105
249 Nk 5 57 poMal Al AT 51302skekstolokeiok 558 & 3 330
250 K [Eik 5 58 ik B [EESN 51302skksekokiok552 = 5 250
251 R R E:) 74 Xk HR A AT 51302skksoloetok 555 5 7 250
252 %+ 5 62 DM T EA 51302:skskskkkk556 5 I3 990
253 [Jibass] 54 60 Xk HR AT AT 51302stkekstolofetok 522 5 2 250
254 A 3 21 ik Bl [IEXR] 5117 2skkstckkokk 957 & 2= 250
255 fa] )52 k) 69 it B fal Kkt 51302tk 577 = = 660
256 B 5’y 62 ik B [EESN 51302skksekokior522 = = 250
257 [ T 5 21 it S (IS 5117 2%kskskkkk%959 = & 330
258 A 5 29 X HR AT 51302skskss585k%550 & 7 330
259 [ pp 25 54 79 ik B [HEXR] 5130 2skkskskesestekk 529 & 2 330




260 AT y6 %6 54 59 ik B [IEXR] 51302skskkstokodeokeok 527 i 2= 330
261 ] 5 3 54 38 poiMal [HEXR] 51302skk0k0k %524 & 3 330
262 A5 I 63 X B [IEXR] 51302skkskelotokk546 = = 330
263 xS 54 61 X BB A AT 51302sktkototolok 524 i = 330
264 [ENES 5’8 52 X EE SN 51302skekseloior527 & 15 330
265 AT %2 %= 3 49 ik BB AT AT 51302skekstolokeiok559 5 7 330
266 A % 69 X HR [IEXR] 51302skkstckdokeok 545 F 15 400
267 X AETE 5 47 Xk HR Al AT 51302stkeksolokekok 55 i Py 1200
268 M I 33 X EL [IEXR] 51302skkskseletekk 96X = = 250
269 XFE 5 11 X HE A AT 5117 2sskkskks%95 3 75 = 250
270 ke 5 51 Xk BB [ESN] 51302skkkk6552 & P 330
271 BEE 54 88 ik BB AT AT 51302stkekstoloetok 522 5 2 330
272 R UL 60 DS [DEXR] 51302skskskksktok54 | F I3 660
273 | REUTE I 10 ik B [HEXR] 51172tttk 042 & 2 250
274 [ENEE 5’S 76 X Bl [IEXR] 51302kttt 52X = 5 330
275 {22 4ok 5 84 ik B [HEXR] 513025k 55 | 5 5 250
276 a2 4 3 61 X# HB AT AL 51302skkkkk557 & i 250
277 FEIE% 5’e 82 X HE AT AT 51302stkeksolokokok54 1 5 7 250
278 frya £ 5 76 ik B [IEXR] 51302skskkstckdokok 557 F 2= 330
279 % L 89 X EE [EEXR] 51302skkkototolok 556 Fn = 500
280 YR 5’y 88 X B [IEXR] 51302kttt 52X = = 250
281 TG % 5 57 X HE [IEX) 51302%k%kkk%%554 & = 500
282 B35 i 85 S HE [ESN] 51302k k86525 & P 250
283 FREA 54 90 X HE [HEXR] 51302skkskskketeokk540 = 5 330
284 L5t el 79 X HR [IEXR] 51302skssksotskek 55X i 15 190
285 fA] 22 3 B 70 X EE Al AT 51302stkekstoloetok 567 5 2 330
286 MER gy 74 SR HE [IEXR] 51302skeksekokiok527 & s 330
287 [EREDS) 5 83 ik B [IEXR 51302%xkkk5%%556 S & 250
288 E3&n Y 72 ik B [IEXR] 51302skks0k45kk52 1 & = 660
289 A6 Bt 5 74 X B Al AT 51302skkskkkkk 552 %5 & 250
290 ML UL 82 Xk El [IEXR] 513025k 529 i 15 330
291 KFF 54 79 poMal Al AT 51302skekstoloeok 528 & 3 190
292 h2E e -y 75 SR HE [IEXR] 51302skskctorkok524 & s 330
293 11575 I~ 68 X HE A AT 51302sktkototolok 52X 5 7 190
294 AT 5’y 79 Xk HR AT 51302454529 & & 190
295 ATy IR 5 85 B AT AT 513023k kst 554 %5 & 330
296 K] el 78 ik B [IEXR] 51302skssksotskek 554 i = 500
297 Ak 54 71 X HE Al AT 51302scktkototook 544 & = 250
298 fATy6 %6 -y 76 SR HE [IEXR] 51302skkselkokiok525 & s 750
299 BT 5 76 Xk R A AT 51302tk 573 75 = 250
300 ekl 5’y 15 SRR A AT 51172741 & = 250
301 p=E = 54 58 Xk HR AT AT 51302stkeksolokeiok 428 & - 250
302 ¥t H 5 55 X HR [IEXR] 51302skssksotskek 55X i 15 190
303 Ik Eoe 61 Xk HR fAl AT 51302stkekstolotetok 522 & & 190
304 ENRFE gy 80 SR HE [IEXR] 51302skekselkorior522 & s 330
305 e L 67 X EE A AT 51302skkeksolotetok 527 % = 330
306 FIkK 5 84 SRR [DEXR] 51302skskskkskttk55 | = 5 190
307 ] ‘22 kS 70 ik B A Kk 51302 kkkatctokok57 1 & & 190
308 JEEF 4 77 it Bl [IEXR] 51302skskkstokodeokeok 527 & i 190
309 FIEH L 84 X HE [HEXR] 51302skkeksolotetok552 i i 190
310 A 5 86 SR HE [IEXR] 51302:kkk1k%556 & s 330
311 BEE S 53 SREE | fT5AS 51302k k5855420 & & 330
312 EEE 1 77 ker | frxat 51302kiottork 522 g P 330
313 Al K ZE 5 91 X BR AT AT 51302skkskkk5k55 1 %5 & 250
314 ¥ 5’y 79 ik B [IEXR] 51302skskkstckdokeok 525 & 2= 330
315 R 54 76 ik B [HEXR] 51302skkskkskotkk529 = 5 330
316 EFIL 5 84 ik B [EESN 51302skskctotkok 556 s 5 190
317 X 5’e 78 Xk HR A AT 51302tk 524 75 = 330
318 [IERS 5 i X HR AT 51302k 57 7 s & 190
319 BAEE 5’e 68 Xk HR AT AT 51302scktkototolok 546 5 i 190
320 EIESS 5’y 73 ik Bl [IEXR] 513023kt 524 & 2= 250
321 A& 8 79 SREE | TSR 51302sktkt8523 % & 660
322 {6 & Ll 74 ik B [EESN 51302skketotkok 550 = = 250
323 T 4 75 Xk HR A AT 51302skkkototokok 520 i = 330
324 AT y6 vk 5 69 ik B AT 51302k 45555 & &= 330
325 B3 5 70 it B Kkt 51302%kkkkkkk576 =5 = 330




326 JAER 5’y 81 Xk E [IEXR] 513025524 5 5 190
327 T 2% 54 53 Xk HR Al AT 51302tk 522 75 = 250
328 {3 5 76 X HR [IEXR] 51302kl 55X = 5 190
329 e ] 72 i BR [EXR) 51302kstolkokokk 577 P i 380
330 T 5’8 67 X EE SN 51302skksekoriok583 & 15 250
331 FHIRZF 54 74 ik BB AT AT 51302skkkototolok 520 5 7 190
332 {A] 223k 5 89 ik B [IEXR] 51302skksksotskek 55X & 2= 330
333 R HE 54 73 poiMal [HEXR] 51302 k484527 & 3 330
334 Tk I 59 X EL [IEXR] 51302kl 529 5 & 330
335 RUIEE i@ 80 ik B [HEXR] 51302skkeksoloetok 523 75 = 330
336 oA “ 80 Xk BB [ESN] 51302skpkkk6522 & P 250
337 &S 5’y 58 it B fal Kkt 51302%kkkkkk%506 = = 250
338 S 5 68 ik B [IEXR] 51302skkstckkkeok 575 F 2= 250
339 B X5 54 55 Xk HR Al AT 51302skekstolokiok 568 & = 250
340 M MER i 64 X HR [IEXR] 51302:kkkckoikok 520 & s 250
341 K i I = 69 ik BB A AT 51302skkekstolotetok 527 5 2= 250
342 XA 3 74 X# HB AT AL 51302skk4k4553 i = 330
343 X 4 5 59 ik BB AT AT 51302skeksoloktok 555 &5 & 250
344 FIEE i 83 it Bl AT 51302skskotolotokok 528 % 7 190
345 ¥ ELAL 5 54 Xk HR Al AT 51302skkekstoloketok552 5 Fh 250
346 e 5’8 63 X HR [IEXR] 51302skskckoikok 520 & S 250
347 {i] 22 3% 5 86 ik B [HEXR] 51302skkskkketokk 55X 5 5 190
348 JEIEZ 5’8 70 Xk BB [ESN] 51302sktkekkk527 & P 250
349 AR E: 85 X HE Al AT 51302stkeksolokeiok553 & - 250
350 BMER 5’y 55 X HR [IEXR] 51302skkkstckdokeok 587 & i 250
351 BT B 62 X EE Al AT 51302sktkototook 440 5 7 250
352 fATyE % 3 76 SR HE [IEXR] 51302skeksekoiok557 & Fn 250
353 BhEE i©@ 64 X HE FBEFL 5130 2sksksksteok5 27 Fn F 500
354 FXou 5 70 Xk HR BT 513023tk 550 & 7 250
355 A ATAE 5 70 Xk HR AR AT 51302:kkskck k556 5 7 330
356 kg4 7 50 Xk El FBEFL 51302skskkkskik55 | i &= 1320
357 KA 5’y 49 ik BB FBFRAT 52926 3skeksoloiok | 65 5 2 250
358 gk I 22 SR ER FBEHL 51172skkskokoketk98 1 5 = 250
359 TR AR 5 16 Xk R AT 5117 2skeksolokeksk 07 | 5 B 250
360 LA 5y 61 ik B FBEAL 51302skksckdkok 565 & = 250
361 % & 46 SR el 51302stkeksolokeiok 389 75 2 330
362 S Y 89 X HR FBEFL 51302skskkstckodoksk 52 1 & i 250
363 ST 5'e 78 ik B FBEFL 5130 2skskskseteokok 528 Fn = 660
364 FM I 5 53 ik B FBEFL 51302kttt 550 = & 250
365 WAL E 79 ik B H AT 51302skskskskskskokok 557 5 & 250
366 R I 88 DS FBEFL 5130 2sks5skskttk52 | S B 330
367 ESLE 54 56 X HE AR AT 51302sktkototokok 52X i 5 750
368 BB el 17 ik B HBFAT 51192sksksskk% 1 96 & H 250
369 BEE 54 20 X HE FSER 51192skeksolokeok225 & 5 250
370 TR AHZ 5’y 68 X ER FBEAL 51302skksksokoiek529 5 = 250
371 HBEE i@ 81 Sk HE FSER 51302skkeksolotetok 527 75 75 105
372 X Y 71 Xk HR FBE AL 51302skskkk454525 & H 250
373 WK 5 68 Xk HR AR AL 51302skkokokk 559 5 7 210
374 MLl 1% i 68 X HR FBEFL 51302sks5kksksokk 527 i 15 250
375 5L 54 76 ik BB HRFAT 51302stkeksolotetok 529 = 7 500
376 FLE 5 73 X BE FBEFL 51302skksekokiok555 & & 250
377 EYES 1 82 Sk ER HFAT 51302:kcksctetekk520 g s 250
378 FYH 5B 67 ik S HBHEA 51302:sksskskskkk558 S B 250
379 A 7K Eb 54 82 ik B AR AL 5130 2skskskestetotk52 | & & 250
380 N 5’y 86 X HR FBEFL 513023k ksksokskek 526 & i 190
381 H AL 54 83 ik BB FBFAT 51302skekstoloetok 529 = 3 250
382 PR Ll 58 X EE FBFAT 51302skksekokiok558 = 5 330
383 Ak i@ 80 ik B FBEFL 51302skkekstolotetok 527 i = 330
384 P f 5 70 X HR FBEFL 51302sskkk45%59 7 % 2= 250
385 K% 5 82 X HE AR AT 5130 2skkskskeesteokk5 57 fn = 250
386 7KK B 3 84 ik Bl FBEFL 51302skkkstekokeok 558 & 2= 250
387 7K 5 101 ik BB BT 51302sksktotolok 556 & 3 250
388 tiE &© 70 ik B FBFEAT 51302skskctotkok 52X = = 330
389 BEAER 54 82 ik B FBEFL 51302scktkototolok 526 i = 250
390 BIEF 5’y 76 SRR FBEFL 51302k xkk8%%524 5 = 250
391 Eline 5 70 B A 51302kskkokk 551 5 5 105




392 ik 5 87 X HR FBEKL 51302skskkstckdokok 552 i 2= 330
393 PSS 54 17 SR FBEFL 5117 2kotokokokk 987 & = 250
394 Zikf 5 56 X HR FBEFL 51302skksksolotek552 = 5 250
395 %235 B i@ 74 ik B FBEFL 5130 2sksksketeokok5 29 & i 250
396 fAr %2> L 76 X# B FBFEAT 51302skkekkk522 i P 250
397 kTE 5 68 X HE HFAT 51302skeksolokiok 553 & i 250
398 By 5 69 ik B FBEFL 51302skkstckkokeok 558 F 2= 400
399 [3Le 5'e 63 ik B FBEFL 51302stkeksolokekok52 1 r = 190
400 XMt 5 82 X HR FBEFL 51302kttt 550 = &2 250
401 WRfE2s E-e 73 X HE FRFAT 51302skkekstolotetok 529 5 2= 250
402 [ 5 = 80 X# HB FBFAT 51302skkeelorior523 i = 250
403 Y EFE 4 83 Xk HE HFAT 51302skkeksolokeiok525 5 2 250
404 X475 UL 82 X HR FBEFL 51302skssksotskek 52X % i 330
405 SiEE L 76 ik B FBEFL 51302skekstolokeiok 558 i N 250
406 FEL 5 87 Xk B FBEAL 51302kttt 550 = 5 250
407 ] i 4 5 78 X EE FSER 513025k 55 | = 5 250
408 KRR % 87 ik B FBFAT 51302skekselorior5 74 5 & 250
409 72 Eoe 79 ik BB HFAT 51302skkkototokok 526 &5 i 190
410 Tt 5 5’y 52 X HR FBEFL 51302skskkstckdokok 545 % i 500
411 4 L 21 ik B FSEXR 5117 2slekstoloketok57 i N 250
412 K L I 71 X B FBEAL 51302kttt 526 = 5 190
413 B IE T 54 76 i BB BT 51302skeksolokoiok545 & 3 250
414 FIER % 64 ik B FBFAT 51302:kskototkok 556 5 & 250
415 IR B 4 71 Xk HE HFAT 51302skkkototolok 526 &5 i 190
416 LT 5’y 75 X HR FBEFL 51302sskkstekdokeok 529 & s 330
417 kg 3 69 ik BB BT 51302stkeksolokokok 55 5 2 250
418 KT I 71 ik B SRA 6123 2skkeksokoox 125 5 & 400
419 Rilk% i@ 50 ik B SR 5130 2sksksksteok5 27 & %5 330
420 Vil 5’y 81 itk R RN 51302k kkkkxk44 | = 5 380
491 1% [E6 5 51 Xk HR SERAT 51302sksskstokotokok 47 1 5 i 250
422 5 5 52 ik BB AR 51302430k k%6451 5 & 330
423 Biba 5'e 56 ik B SARK R i & 660
424 P 5 58 ik B SARNT 51302skkskstolotok4 72 = 5 250
425 REK E: 49 ik B SR 513025kt 458 i & 330
426 e 5 54 ik B SARKT 513023kt 456 s & 190
427 A = 44 X HE SERAT 51302stkeksolokiok668 & 3 250
428 RER el 19 ik B SR 5117 2skkstkkkek 715 & i 400
429 LI 5 38 poMal SR 51302kt 450 & 5 330
430 Rt 5’y 27 ik B AR 51302skksktolotek4 47 = = 330
431 DESNs 5 87 X EE SR 513025kt 4 70 & & 190
432 AT ARES i 12 ik B SARKT 51172kt 96X & H 190
433 [ 4y ES 44 Yk ER SARKT 5130 2skkskskeeteotok 459 fn = 330
434 i 5 74 Xk B AR 51302skskkksksokk 452 i 15 800
435 3R ) 51 ik B SHRA 513023k 450 5 5 250
436 4% 5 37 X ER SRA 51302skkskstoloietk4 57 5 & 250
437 ThHTE % 69 X EE SARKT 51302scktkototolok 446 i i 190
138 T 1 53 kB | A 51302skkk88%k4611 o pic 330
439 EXZES 5 85 X HE SR 5130 2sksksketeteoteok4 5 | i 75 105
440 N 5 71 Xk El AR 51302sks5kksk84%456 i 2= 190
441 KR 54 80 ik BB SERAT 51302skkeksoloekok445 = 7 105
442 M 5 80 ik B AR 51302skksktoloiek453 = 5 190
443 At % 76 Xk BB SARKT 51302skkekstolotokok449 i i 190
444 YT 5 71 Xk E AR 51302k sk k6454 5 & 190
445 AT 5'e 51 ik B SR 5130 2skkskskeleteok 448 F & 400
446 B U 3 58 ik B SHRAT 51302skssksotsek 45X & 2= 400
447 TR 5 76 ik B SARKE 51302tk 453 = 5 190
448 BRUn 75 Z 89 SR HE SAHRAT 51302sksetotkok 440 & i 105
449 K i@ 36 ik B SRR 513023k 440 5 5 105
450 HOLE 5’4 87 Xk E SARKT 51302k 4k 447 = & 330
451 LAk E] 29 ik B SR 5130 2skkskskeeteokok 452 i & 250
452 ElLEL 5’y 80 Xk Bl AR 51302sks5kksk8x 446 & 15 105
453 Zeati e 3 57 ik B SARK 51302tk 453 = F 400
454 Pias “ 80 X# B SAHRAT 51302skstotororq 44 & 5 105
455 RS e 76 Xk HE SARKT R —— = = 330
456 W I 43 Xk E SARK 5130 2skskskckelotok k688 FS B2 190
457 2 fi E: 62 ik S SR 51302skkskkskskokk 474 5 = 190




458 ZEAli T i 56 Xk E AR 51302sk5kksk84% 486 i 15 105
459 [ A5 [ 67 X EE SERAT 51302skkekstoloeiok453 i i 500
460 Al {fi U 76 X HR SARKT 51302skksktolotok4 43 = 5 250
461 EEES 5 61 ik B SN 51302tttk 4 54 75 75 400
462 pUERES| 3B 69 X EE SARAT 51302skksekokiok459 F A 400
463 2= 5 63 ik B SN 5130 2skkskskeleteok 459 Fn Fh 250
464 kil % 21 Xk E AR 51172tk k82X F 15 400
165 PHEY I 87 SR SARK 51302skkekstoloeiok443 75 5 190
466 AT 5 31 X HR SARNT 51302skkskstolototek 1 78 = 5 105
467 i £ 5 52 i BB SERAT 51302%kkkk4k%457 4 i 400
468 IE: 5 47 SR HE ARiAN] 51302skekseloriokq 78 & i 250
469 R E 3’y 70 ik HS AAeH 51302%kkkkkk%445 5 = 250
470 AT 4 76 ik B ARIAN] 51302skssksotook 464 % = 400
171 B 4 19 xkeg | ekt 5117 2kioitkokT 38 % 7 250
472 IEIEIES 5 54 X HR ARIZN 51302skksksoloteik4 51 = 5 250
473 EHIER ] 67 ik BB ARiAN] 51302skeksoloeiok458 £ & 400
474 LAl 5’S 63 X EE AR 51302s%k%skktkx504 = = 800
475 {1 B E: 19 ik BS AR} 5117 2%kkkkkk%736 5 = 250
476 E3sES 5 27 Xt ER ARIAN] 51302skskkstckodokok 457 % i 400
477 TR 54 22 X EE AR 5117 2stelekstolotetok 723 F 7 400
478 AT {H~F L 61 X HR ARIZN 51302kl 459 = 5 330
479 FEEH 54 50 i BB ARiAN] 51302sckskototolok 460 5 2= 400
480 AT RIS 5 57 SR HE ARiAN] 51302skstototkok 45X & i 800
481 AR I, 5 20 X HE AR 51172%kkkoktekk 716 = 5 250
482 taz s 5 40 itk BB AN 513024k 4%k459 5 & 330
183 | HaE | 4 15 GBS | ZTAER | 51172ksitk728 il it 330
484 HIEH 5 69 ik B ARIZN 51302kl 07X = = 330
485 ESE) 4 71 poMal AR R — & = 400
486 k¥ 5’y 69 itk R AR 51302k xkk8%%440) 5 = 330
487 2R 4 76 Xk HE AR 51302sktkototook 444 & 3 330
488 ABRE 5’8 72 it Bl ARIAN] 51302kttt 442 & i 330
489 S 4 78 ik BB AR 51302stkekstolototok 442 & 3 250
490 AT 5 57 ik B ARIZN 51302skksktoloiek453 = 5 190
491 HRE 54 49 X HE ARiAN] 51302skkekstoloekok485 & i 250
492 BN 5 72 ik B ARIAN] 51302skkstokdokok 458 & & 250
493 BEF 5 57 SR AR 513025k 479 75 = 250
494 TR Y 65 ik B ARIAN] 51302sskkstekdkok 445 i 2= 330
495 3555 54 71 ik B AR 513025tk 449 = 5 500
496 frgdfe 5 73 SR HE ARIZN 51302skksksolotetk4 59 & 5 250
497 T4l 3 74 Xk BB ARiAN] 51302skkeksoloetok458 i i 250
498 IS 5’y 74 ik B ARIAN] 51302kttt 442 & H 250
499 &7 i 84 ik S AR 51302tttk 446 5 = 250
500 AT 5 82 Xt ER ARIAN] 51302kttt 4 72 & i 250
501 JE o 5 87 poMal AR 51302skskskkteokk 456 r = 250
502 B 3iea 5 52 X ER AR 51302skksksoloteik45 1 5 = 400
503 CErS 1 76 StEE | dEs 51302:kototkxd6 1 7 P 660
504 Faa 5 54 ik B ARIAN] 513025kttt d 70 & 2= 250
505 it 54 46 X HE AR 52924 sleksolokekok22 | 5 7 330
506 AT i°©@ 81 X HR A 513025k 4 1 5 Fh 250
507 fRT R 4 5 80 poMal AR 51302skeksoloekok455 £ & 190
508 MHEE 5 67 ik B ARIZN 51302skksktolokek4 75 = = 380
509 MEk 5 19 ik B AR 51172%kkkkolekk 716 & = 250
510 [DERY - 5 87 ik B ARIAN] 51302skskkstokdokok 453 & i 190
511 AT I LS 72 ik B AR 51302skkskkkotokk 458 5 5 190
512 [DERKS 3 85 it Bl AR 513023kt 45 4 & i 190
513 Tk 54 78 ik BB AR 51302stkekstolokekok 462 & 3 250
514 B 5’y 58 ik BB AR 51302sksctotkok 460 & % 250
515 5% 5 78 Sk R AR 5130254k 459 75 2 400
516 Ytk 5 70 X A 51302k sk k6454 = Fh 330
517 Tk L) 89 X EE ARiAN] 51302skekstolokeiok453 5 7 190
518 S Ei] 61 X ER ARIAN] 51302sskkstckodokskd 5 1 & Py 400
519 Bk 54 71 ik B AR R — 75 75 105
520 B AS i 86 S HE YRS 51302skeksekokiok622 & i 400
521 A B 4 58 Xk HR PR 51302skkekstoloketok 263 5 2= 660
522 AT EE AR 5 18 Xt ER RS 5117 2sskkk45%9 79 FS B2 250
523 TG 54 28 Yk BR IR 51302sktkototokok§2X i & 400




524 ZRCE 0 57 ik B RS 51302skssksotskek 654 i 2= 330
525 BEY 54 85 X ER TR 51302sckkkototolok 646 5 2 800
526 FiRTF LS 19 ik BB TEHEAT 51172%%kk44%814 & = 250
527 ZE I 54 48 ik HE IR 51302sktkototolok 286 = 5 990
528 B EM i 24 S BB T EEAT 5117 2skekeloriok4 64 i i 250
529 ¥ 3 16 ik BB TeFPEAT 5117 2stlekstoloetok872 & i 250
530 KO R 5’y 24 St yAsTNl 5117 2ksksisksk826 %5 = 400
531 {r] {4 3 69 Yk BR AT 513025kt 653 r 5 400
532 TRZE 5’8 i it Bl e EEAT 51302skeksekokiok6.29 & i 330
533 '8 I 5’s 59 DMl RSNl 513023k 62X 5 & 330
534 A 5 14 Xk BB YRR 5117 2skksekokk9 75 & i 400
535 FhIIE 54 31 X HE TFEAT 51302stkekstoloetok6.29 5 7 400
536 HAIE 3 63 Xk B IR 51302845657 S = 250
537 e 5 71 ik B IR 51302%k%k5%5%650 = 2 800
538 LW 5 44 i ER AT 51302skksekokiok652 5 & 250
539 SR 5 80 it Bl RSNl 513023kt 654 5 & 250
540 JEAEER i@ 74 ik IS A 51302skkkskskkokok625 S = 800
541 L 5 49 ik B YR 5130254k 658 & & 250
542 T 5 68 X HR YRR 51302k 430k 4%k65 1 5 &= 1200
543 [ [ 75 54 65 ik B JHERT 5130 2skksksksetekk629 & 2 250
544 ZRAEXR 5’y 26 ik B WEEAT 51302kl k620 S 3 250
545 {4t 5 E 50 ik B IR 51302657 = 5 380
546 = i 12 Xk BB YRR 5117 2skektokokkok06 1 i i 250
547 [T Bk & 17 Yk ER Ik} 5117 2%xkkk84%823 & Fh 800
548 FRIT AL & 7 Xk B WEEAT 51172%%%kk5%%08X & Fn 250
549 =Dl 3’y 50 e W EEAT 51302skkkkokok 648 5 5 330
550 B 5’y 54 Yk B AT 51302skksksolotokx624 5 & 400
551 HAR 5 60 ik HE WA 51302kkkk0k k%657 i = 400
552 X BE A 0 48 Xt yAsTl 5137 2skskskskskokkk 1 6X = = 330
553 kg 5 10 Yk ER ERT 5117 2skskskketekk 95X N & 315
554 BAE 7 50 X HR AR 51302k k55554656 5 Fh 250
555 7S ek 54 53 Sk ER TEEEAT 52262k kx4 26 i Fh 250
556 AT 5’y 95 ik B AL 51302skeksckokkek62 1 & 5 400
557 BERE 5 52 Yk ER JYERT 513025kt 655 i & 250
558 JAHE 5’q 83 XL RS 51302%%xkk%%%625 5 & 400
559 HE 5 83 ik B AT 51302skkskkkkk 652 N & 330
560 WELE & 61 Xk Bl IR 51302:skskskkk:626 S & 330
561 B I 75 X HE JEEERS 513025tk 624 = B2 400
562 T & 62 ik HS IR 51302:ksckolelokk624 S = 400
563 JHAEIE 5 51 it B W FEAT 513023k 657 5 7= 400
564 Wikt 5B 62 XL RS 51302sks5kksksk%658 = 5 400
565 % E 4 86 Xk HR e EEAT 51302tk 629 % 7 330
566 3 el 76 ik B AL Rl 51302skssksotskek 654 & i 500
567 [t i@ 77 it Bl WIS 51302k %623 5 5 250
568 =K E 67 St El WEEAT 51302:kskkelekkk653 S = 330
569 PN 5 81 ik B AT 51302skkkk84%652 & & 400
570 EON ) 82 XL RS 51302k kkk%%%65 | & 5 105
571 1%k & 77 ik S I} 51302k 64X i i 250
572 R AR 5 72 Xt ER AT 51302skskkstckokok 658 i 15 330
573 AR 5 52 ik B IR 51302k kst 67X & 2 400
574 Je )5 5’y 50 Yk B EEA 51302kl 862 & 5 190
575 & LS 71 Yk ER WA 513025tk 655 I3 B 800
576 if@.%i’J 5 46 X RS 51302sks5kkskskx658 5 I3 250
577 NI kS 70 ik BB RSNl 51302skkskskskekekk657 5 = 500
578 5% & 68 X ER WAt 513025k %628 & 2= 250
579 T, L 33 X HE AT 51302kt 655 N & 330
580 A % 18 ik B EFEAT 51172kttt 83X 5 & 190
581 ThE 54 48 Yk BB IR 51302skkeksolookok 62 1 Fin i 330
582 HFEH 54 14 X RS 51172%%%kk5%%98X % 5 330
583 HEE 54 61 X HE TeBEAL 51302stkekstolotok645 5 7 400
584 Fk U 69 X HR YRR 513025k %628 5 F 330
585 Ji B fila 5 81 e I EERT 5130 2sksksksteokok659 N 5 400
586 TR 3B 84 X EE AR 51302skkk855650 & = 330
587 P RIA 4 17 Xk HR TFEAT 5117 2skekstolookok845 5 7 750
588 Ed=k 54 52 X B RS 51302%%xkk5%%628 & 15 250
589 A E: 77 ik S Ik 5130244653 5 5 250




590 PR RR 5 71 X HR YRR 51302kk0k45k677 & & 210
591 Jpf=2a 0 73 pMEl JeBEAY 51302kkksksktokok 642 & & 250
592 JHE i© 21 Xk B WEEAT 5117 2skkkskkokok S22 S & 400
593 BT 3 19 X BB TeFEAT 5117 2skeksolokekok8 18 i 3 400
594 RARHE % 79 ik B JEFEAT 51302skksekokiok652 = Fh 990
595 RN 3 24 ik BB TeFPEAT 51302stkekstoloeiok8 13 & i 250
596 St U 19 X HR YRR 51172kt 828 5 & 250
597 {4 ) 63 ik BS WEERS 51302k %658 = = 330
598 ARG 5’y 51 X EL AT 51302kl 28X 5 & 105
599 A 5's 46 it B RSNl 513023k 622 5 5 330
600 [ SR = 54 Xk BB YRR 51302skekselokiok642 & i 420
601 Wl 5 55 S BR TEEEAT 513023k k83050 &5 3 250
602 Y% 5 17 X HR YRR 511725tk 19 5 & 250
603 LRSS 5e 30 YK B JeFEAY 51302%skkskk40k% 109 & & 250
604 KA g 39 ik B WEEAT 51302:skletekk670 S 5 760
605 E (8 5’y 44 it s WIS 513023k 845 5 5 250
606 K 5 19 Xk BB YRR 51172kttt 816 & i 250
607 Kk 5 13 ik B IR 51172kttt 95 | 5 5 250
608 K= % 16 XREE I ARAEIX 5117 2skksksotsek 58X % i 400
609 LRl 54 19 SREE [ AR A X 51172k sks45%984 75 75 400
610 ik H 5 56 SREE [T ARAEX 51302skkskselotekxk034 = & 250
611 & E 71 SKER | AR A X 51302018 N B 660
612 BB 5’y 69 SREE [ AR A IX 51302skksksotoeiek021 5 = 250
613 4 5 63 SREE [V AR AL 51302stkeksoloketok552 5 7 400
614 i 5’y 53 XREE I ARAEIX 513025456043 = 5 190
615 B Kk 5 81 SREE [ AR A X 5130 2skkskskesesterk0 1 2 & 2 660
616 L es gy 78 SREE [ AR A X 51302skeksekokiek025 & 2= 250
617 AL i@ 94 SKER | AR A X 51302%skskkkkkk027 5 = 250
618 ik EE 69 SKER [T A4 X 51302%kskkksk4%03 1 S B 330
619 s Eoe 60 SREE [V AR AL X 513028k 0 46 5 i 105
620 Eaili 5 84 XREE [V RAE X 51302skkk4560 19 i A 250
621 SRS 54 69 XRER  [ITAAEX 51302stkekstoloketok06 7 5 7 190
622 s -y 95 SREE [ AR A IX 51302skekseloriok04 7 & % 250
623 SO HE E: 84 SKER | AR A X 51302%skskkk4%03X = 72 500
624 RER® % 81 JRBE ] AR A X 51302kkkk5k%023 i Py 250
625 P E i 78 SREE [ AR A X 51302stkekstolokeiok 088 5 7 105
626 AR u© 82 XREE R4 X 51302skksksotskek020 & i 250
627 e 5y 71 NRER | AR A X 5130 2sksksksteok 069 = 5 330
628 Fk IR °©@ 73 SKBE | AR A X 51302skksksototeiek021 5 & 190
629 ER 5 46 X EE KITH 51302skkksk83:01 0 i & 330
630 P ET 5 15 Xk E KITH 51172k%%kk5%%97X 5 & 190
631 B ZE 5 39 X EE Kkt 51302k ks 01 4 & i 800
632 IR REn i© 17 X HR KA 5117 2%kkk4%k568 5 F 250
633 BE=AN i 22 Xk HE KAt 5117254k 543 i 3 800
634 x4 5’y 16 ik B KA 51172skkskst0keketk567 5 & 250
635 FHET 5 38 X EE KITH 513023k ks 89X i & 400
636 s 5 52 itk BB KT 5130258035 5 2 330
637 [ LA S5 4 87 ik BB Kok 51302skk0k0k %044 5 3 250
638 R 5 5 14 Xk El KITH 511725998 = & 250
639 X4 3 68 ik B KITA 51302kkkk0k8%%016 = = 250
640 e i 80 SR HE Kt 51302:kkkk 04X & i 250
641 B4k B 5 93 X EE KITH 51302skkskkkk0 13 & & 250
642 ] 22 5’y 22 X HR KITH 5117 2sks5skskskseokk 588 %5 5 660
643 5] e I 22 X BE Kkt 511725454609 & i 250
644 RME 5 32 it BB KA 51302sk5skksks4%859 & 5 330
645 WiE i 5 55 ik B KITA 51302%xskkk84%018 i i 250
646 RAm 4R 5 68 X EE KA 51302skksekokiek055 & % 250
647 Al LS 87 Yk BB KTkt 51302tk 7 75 = 330
648 R 54 40 itk R KA 51302skk0k45k049 % 5 330
649 B 5 24 X EE KAt 5117 2%k kkske4574 5 3 190
650 [X] 2 2 I 21 Xk Bl KITH 5117 2skskskksksonkk 567 = & 250
651 T g 5 14 ik B KITA 51172kttt 97 | 75 75 400
652 A& 3B 54 SR HE Kt 51302skk8k401 3 & i 250
653 BES4 i@ 24 X EE KIrht 5117 2kksokkkk 547 & 3 400
654 XL 5 37 itk R KA 513025584076 %5 2 400
655 B 5 24 X EE Kkt 51172k kksk5534 & i 380




656 B PE 5 18 X ER KIrHt 5117 2sskkkk8601 3 7 7 250
657 HIE4 kS 74 X EE KITH 51302kt 01 4 %5 &5 250
658 | ZDAEAN i© 16 ik B KA 5117 2skkkskskokok569 S = 750
659 % TR 54 12 X EE KA 51172k kksk£02X i = 250
660 BhE 5 15 X EE KA 5117 2skskckotkk970 F = 250
661 BEEF 54 57 SREE [V AR A X 51302stkoksoloekok02 1 & i 380
662 iR 5 17 XREE I ARAEIX 5117 2skssksotsek 53X % i 250
663 AL kS 39 XRER  [IT AR X 5130255030 75 5 250
664 BRI 5 20 SREE [T ARAEX 51172sksks0keke%530 5 & 105
665 ek 5 13 SRER | R A X 5117 2skskskktekk QT8 = 5 105
666 AE g % 14 SREE [ AR A IX 51172sksks0kek%976 5 Fh 105
667 TR 5 22 SKEE Edbit{ 51172%%kkk55%559 & i 250
668 T & 48 SREE E S 51303%kkkiokkk361 S & 250
669 FE 54 39 SREE EdblFEN 5137 2%kkekekiokk98 1 5 2 500
670 BIikE 5 18 REF E SN 51172skkkslokk57X = = 250
671 XFL 5 56 WREE EMLFEN 51302%kkekekekk 772 f i 250
672 ESGE S % 16 SREE A 51172skkekk0k%573 5 Fh 330
673 BRE & 61 GRER  EfLEN  51302%kkkekkk620 = 5 330
674 ) 1K 5 52 XREE EdbdE N 51302k 1X F 15 330
675 B2 5 21 WREE EMLFEN 5117 2%kkekekkk573 N 5 250
676 fHEEMR 5’y 24 SKEE ES A 51172%kk0k0k543 S 5 190
677 B E 52 SREE  E X 51302301 1 5 5 330
678 FRARER 5’y 57 SREE A 51302skkskekokx543 5 Fh 250
679 ELUES & 76 GRER  EfLA  51302%kkkekkkk040 = B 330
680 KIE B 5 89 SREE EdhE D 51302skkekikx039 i 15 500
681 TR 54 17 SREE EdbldX 5117 2kkekekokk428 %5 &5 250
682 BN TR 5’y 21 SRER  EfLAEN  51172%kkkkek0k983 5 & 500
683 eSS 5’y 84 SREE  E X 513023k 026 5 5 250
684 i 5 54 XREE EddE D 51302skkekekkx033 5 & 330
685 IR, 5 59 SREE [ KHHX 51300%kkkk8%%6 16 i 5 250
686 RS 5 27 SREE K H X 51302:kskskoskokk2 1 4 F I3 330
687 25N [ 46 SREE | KA [ 5130245195 7 o) 250
688 ] 3 5 39 SREE [ K HAX 51302skksksoleiek 193 & 5 990
689 KBS 4 14 SKEE | KX 5117 2kksk43:005 i & 250
690 IR & 7 REE [ HAX 5117 2%ksk0kk4%02X 5 5 250
691 gt & 43 KB K H X 51302k 200 i Fh 500
692 JHEE o i@ 14 REE [ HAX 5117 2%kkkkk%%004 & S 250
693 AN 5’y 39 SREE [ HAEX 51302k k447 i 3 250
694 K FE T 5’y 59 SREE [ K HAX 51302kttt 208 & 5 330
695 Bl 5 72 SREE | KHAEX 5130055kt 1 8 & &5 500
696 A i 69 SBR[ K HAEX 51300%%xkk5%%622 & 5 250
697 [ 3 49 SRER [ EAEX 51302k k454198 5 & 330
698 BN 5 37 SHEE | K HFEX 51302skkk4%k195 5 F 400
699 e 5 57 SKER | K HAEX 51300skkskketeokk6 10 = 5 660
700 e 5’y 21 SRER [ K H X 51172kttt 785 5 & 250
701 2 ] 14 SBR[ KHAX | 51172%kmkmrk99X 7 g 660
702 v 5 19 JREE | K HAEX 51 162%%%kk5%% 1 59 & 5 250
703 B 5 21 X HE BITA 5117 2stlkstoloketok0 72 5 3 400
704 S #% 5 31 Xk Bl BEPEA 51302%kskskskskkk 872 & S 250
705 =440 5 57 poMal BIPEAT 51300skksolook6 15 = 7 400
706 EEE 5’y 22 Yk B BIEA 51172skskekekkx804 & 5 190
707 et 1 38 Sk B BITA 51302skkkkotkk624 i i 330
708 BT 5 7 ik B EIPAT 51172558550 3X & 4 570
709 ] (] 34 kEE | IR 51302:kikioitk893 %5 5 250
710 ST & 11 ik B AP 5117 2kkskskkokokk982 S S 250
711 SRR 5 29 ik B B 51302%xkkkk4% 196 i i 190
712 EIEAL 3B 54 X EE BPEAT 51300kttt 65X & % 190
713 % IE 5 53 Sk R SRR 51300%kkk0kkx%673 Fin i 250
714 RN i@ 46 X sl 51300%%xkk%%%82 | % 5 570
715 BEEE E: 50 X EE o] 51300k k45650 & 5 250
716 H 5 Ei] 16 it Bl BEPEA 5117 2skokesototokok 77X & i 250
717 Tk B 3 20 SREE | KA 5117 2sktkototolok 794 5 7 330
718 ZE N 5’y 27 SRER | kB 51302skksksolotokk 224 & 5 190
719 [N 5 44 SREE | KA AT 51302skkkototokok 870 5 2= 400
720 HA2 54 50 SRBE | kIR 51302kkk4%k943 & 7 330
721 E kil 5 17 SREE | KA 5117 2skekstolottok 775 5 7 330




722 G 54 18 XREE | kIR 51172kt 788 i 15 190
723 S B XU kS 54 SREE | HEAE X 51300%skkskktokk6 1 X 5 &5 250
724 W 5 48 KRB [ B X 51300skkkkskkokok638 S & 400
725 & H i@ 15 YBR[ IEIAE X 5117 2kt 62X = 5 105
726 ok Ll 87 SRER [ EHAX 5130063 1 S = 190
727 SRR 5 48 WREE | B X 51300%skskkk4%656 5 5 400
728 | JERIFER 5’y 14 SREE | 3EIAE X 5117 2%kkk%%%%986 & = 400
799 ETN ] 25 SBR[ IR X 51302tk k577 7 g 800
730 25 18 5’y 17 KB [ B X 5117 2skkkkskokok584 S = 250
731 Al kAR 54 17 SKER | B X 51172skkkkeleok k626 5 5 400
732 {3 % 84 ML ey 51300kt 632 i 15 210
733 RS 54 82 SKER | KX 51300skskskketkx620 = 5 250
734 T Eud 5 17 SHEE K HFEX 5117 2%k%kk554896 5 & 190
735 HiE) 5 48 SREE [ KX 51302stkeksolookok 9 1 5 7 400
736 JEZ 5 18 XREE KX 51172skksk0kek4%896 & 5 190
737 e ss 54 56 SKER | KX 51300skkskskteokk620 = 5 400
738 I ZEES “ 36 Al Ll 51303skkskoleierk845 i 15 250
739 ESe S & 60 KB K H X 51302%xkkk54%506 & Fh 250
740 ] DL % 85 XREE KX 51300kt 4kk647 & & 105
741 Fu ) 23 SKEE KX 5117 2%xkkk84%770 o = 400
742 {172 5 63 X HR VAR 51302kl 557 & = 400
743 HAEXYL 5y 29 Xk BB YAkt 51302skkkssktskk 524 5 7 250
744 JH A 5’8 46 Xk BB VAR 51302skstototkok 020 i i 500
745 EPN2 4 86 Xk HE FYART 51302scktkototokok 524 &5 i 250
746 HAE 5’8 84 it Bl peralul 51302skssksotskek 520 & i 250
747 REYL TS 5’y 89 it B AIEF 51302skkskskskskokk 543 = = 250
748 Ak 5 70 ik B fVARE 51302skkskstoloiek552 & 5 250
749 KA 54 90 i BB FVgRT 51302skkekstolotetok 522 5 7 250
750 Zegd g 54 77 Xk HR FVERt 5130258526 & = 250
751 A GzE 4 79 XK BB VA 51302:#kkstiokk5 24 5 7 250
752 wAEE 7 83 Xk El VAR 51302sks5kkskskk 578 5 Fh 250
753 R 5 60 ik B VAR 513023k kst 55X Fn = 250
754 B ik I 68 ik B FiErt 51302:skletekk520 S = 250
755 Tk Bk 5 26 ik B VAR 51302skkskkkotokk554 5 5 250
756 FBA W “ 66 ik B VAR 51302skskkstokodeokok 522 & & 250
757 Rt i@ 85 ik BS YA} 51302tk 52X 5 = 250
758 5 i 51 it Bl Pl 513023kt d 4.4 & i 250
759 Y 54 86 poMal VAR 51302sktkototolok 520 & 3 250
760 +&H 5 21 ik B VAR 51172skkskt0kek%838 5 = 250
761 Xz 5e 73 X HE VAR 51302skkeksoloetok 528 i i 250
762 AL 4@ 55 DS AR 51302k %044 5 o 250
763 ZRA 5 81 ik BB FYART 51302stkeksolokeiok552 5 2 250
764 AR 5’y 76 Xk B VAR 51302skskskksktik52 | 5 &= 330
765 BHAE 5’e 69 X HE VAR 51302sktkototook 544 & & 250
766 iR 5 59 ik B VAR 51302skksksokotek558 & 5 250
767 ] i Bt L 388 X EE FVRT 51302skeksoloetok 523 % & 250
768 B 5’y 71 Xk B VAR 513025k 45k527 5 & 250
769 A X3 5’y 38 it B HIEF 51302tk 529 =5 = 750
770 LR AR 3 15 ik B VAR 5117 2skkstk4k%9 55 i 2= 250
771 Bk 5's 17 it B AIEF 51172%kskkkk%%986 = = 250
772 KM 5’y 52 X BE VAR 51302skksksoloteiek52 1 & & 250
773 s 54 87 Xk HR FVgRT 51302skkekstolotetok 527 5 2= 250
774 Bhiz P 5 61 ik B VAR 513023tk 55X % 2= 250
775 Ak E 79 ik RS VAR 51302stkeksolokokok 55 F & 250
776 [N Ei] 47 X ER VAR 51302skssksotskek 55X & i 570
777 R 54 16 X HE VAR 51172k 766 & & 250
778 % S Z 18 X EE VAR 5117 2skksekokk68 & % 250
779 iz ZE 3 74 Xk HR FYART 51302550 75 = 250
780 THHE 54 28 ik B VAR 51302skskkstokodeokok 527 & & 330
781 fa] 4k 5 5 70 it B AYEF 51302skskskkskokk 575 =5 = 250
782 b IRERE 5’y 18 Xk Bl VAR 511725964 & 15 250
783 gEAg 3 60 ik BB VAT 51302skeksolokok555 5 7 250
784 BN 5’y 21 X EE VARt 5117 2skskkok6966 & % 250
785 AR 8 L) 73 X EE YAkt 51302sktkototokok 554 5 2= 250
786 HEYE R 5’y 77 ik B VAR 51302sksskototokok 524 & 7 250
787 & 5 52 Sk R VAR 51302kskotokk 57 1 5 7 250




788 JEME B i 59 ik IS AR 51302sksksiksick5 24 S B 250
789 X2 54 92 poiMal BT 51302tk 52 1 i & 400
790 FLE 5 51 X HR FBEFL 51302kl 573 = = 660
791 FHEE 54 16 ik B FBEFL 5117 2skskskseteokk989 & = 250
792 ED@IN 5 73 ik B FBFEAT 51302skskototkok 55X & = 400
793 Bk 5 56 ik B Al 5130 2skskskketokk556 Fn = 330
794 o 5’y 63 X HR FBEFL 51302skssksotskek 52X F 15 330
795 LN 54 57 ik B FBEFL 51302kttt 404 Fn = 330
796 B I 60 pME FBEFL 51302kttt 525 5 & 1320
797 H4EE 5e 38 i BB FRFAT 51302skeksoloketok545 5 7 250
798 I 5 5 37 Xk BB FBFAT 51 152skekseloriorq 94 & i 250
799 [T R 5 12 X HE AR AT 5117 2skeksolokekok05 | Fn Fh 250
800 FIEAN 5 72 ik B FBEFL 51302skksksotskek 576 F 2= 250
801 FiEg kS 63 ik B FBEFL 5130 2skskskseteokk5 59 Fn i 400
802 g i°©@ 79 Xk B FBEAL 51302skksksoleteiek56 1 = = 400
803 R 5 70 ik BB FRFAT 51302sktkototolok 554 5 2= 660
804 bR 5’4 16 X HE FBFAT 5117 2skektokokiok06 1 & P 250
805 BiE2 54 93 ik BB A E Al 51302scktkototolok 524 &5 i 190
806 oAl 5 91 X HR FBEFL 51302skskkstckkokeok 559 % i 250
807 ZEH 54 53 ik B FSEXR 513025kt 845 Fn = 250
808 FBE & 5 62 X HR FBEAL 51302kttt 550 = = 330
809 W 5 56 i BB BT 51302skkeksoloketok 557 5 7 250
810 2 7K % 71 Xk BB FBFAT 51302sksototkok 55X i i 190
811 2R 54 62 ik BB HFAT 51302skskksekotkk 54X & 2 250
812 fAT A B 5 72 X HR FBEFL 51302sksskseotoek 574 & i 190
813 FIEH 5 81 ik B FSEXR 5130 2sksksksetotk 57 | Fn i 250
814 B 5 56 ik B FBEHL 51302kl 57X = 5 330
815 ] 63 X HE HBFAT 51302skkeksolookok 55 & 3 330
816 5 71 it Bl FBEHL 51302sskkstokodkoksk 55 1 & 7 400
817 5 81 ik BB HFAL 51302skeksoloketok559 £ 5 250
818 W 7 19 pME FBEFL 51172kt 957 F I3 250
819 (e 54 66 X HE FBEM 51302skkskkketeokk 52X P 5 190
820 BT 3 62 SR HE FBEHL 51302skkekotkek590 & i 400
821 BEIEZE 54 60 Xk R AT 51302skkeksoloetok 525 & i 105
822 BRI 5y 70 Xk HR FBEAL 51302ksksskk%524 & & 190
823 BE T 5 73 ik B el 51302skeksolokiok553 N & 105
824 Bikik 5 76 SRR FBEFL 51302450k 4%k55 1 & Fh 190
825 fA] B 54 68 ik BB FBFAT 51302sktktotolok 546 5 7 250
826 B 3 70 SR HE FBEFL 51302sksctorkok 57X & i 190
827 il 4 60 Xk R AT 51302kskokokk 58 | & i 380
828 FHE 5 24 SRR FBE AL 51302k%kkkk%%572 5 = 250
829 % fR 3 73 X HE HFAL 513023k k3570 £ & 190
830 For el 71 ik B FBEFL 51302sskkstekkoksk 55 1 i &= 250
831 B 5 62 ik BB HRFAT 51302stkeksolookok 57 1 & 3 105
832 R 5’4 58 X EE FBEAT 51302skkkkkkx52X & & 105
833 WMEA E: 57 ik B FSER 51302sksksksteokk5 53 Fin i 800
834 kAR 5 21 Xk HR FBE AL 5117 2sskkkki4958 & H 250
835 EXE 5’4 43 ik RS AR AL 51302skeksolokeiok525 F 5 1000
836 JEAE 3 44 X HR FBEFL 51302kttt 4 73 i 15 250
837 FESLYL 5 13 ik BB FSER 5117 2skotkototokok 094 = 7 250
838 IR 5’y 18 ik B FBEFL 5117 2skskctokok 96X & & 250
839 K RKIF 54 70 Sk HE FBEFL 51302sktkokkk 523 5 7 250
840 TN 5 60 X HR FBEFL 51302skskkk454558 & i 250
841 XI5 5 62 ik RS AR AL 5130 2skkskskeeteokk5 58 fn i 660
842 iR T 5’y 57 X HR FBEFL 51302kt 448 & i 250
843 AR i@ 67 X HE FBEFL 5130 2skkskskskteokk 52X = i 190
844 A i 18 S BB e EEAT 5117 2skksekokok829 & s 400
845 LN 5 18 it S AT 51172kt 818 Fa = 330
846 FHE% 5 77 X RS 51302sks5kkskkk652 5 2 500
847 Ik R kS 44 ik BB RSNl 51302skkkskkk %650 5 2 250
848 BTN 5’y 67 ik Bl RS 51303tk 426 & &= 400
849 Z¥ 5 36 e I EERT 51302kttt 670 = P 190
850 T4 L 55 Yt B TEEA 51302skkkskkokok655 S = 190
851 i 5 50 it W EEAT 513023kt 69X 5 5 420
852 AR 54 57 X B RS 51302k xkk5%%840 & 15 250
853 & A & 20 it B IR 5117 2k 848 = i 250




854 i & 20 JRER | JeIF A B11T2piikark82 | & o m
855 | wkwizi | 5 57 | e | RPPM | 51302608 = - -




